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LIFE SCIENCE
LSE-06 : DEVELOPMENTAL BIOLOGY

Note : Answer Part-I and Part-1I in separate answer copies.
Answer the questions as per instructions in each part.
Draw labelled diagrams, wherever necessary.

Time : 2 hours Maximum Marks : 50

Note : Q. No. 1 is compulsory. Attempt any four questions
from Q.Nos. 2 to 7.

PART-I (PLANTS)
1. (a) Fillin the blanks : 1x2=2
(i) An embryo sac derived from one
megaspore is calleda ___
embryo sac.
(i) Requirement of low temperatures for
floral initiation is called
(b) State whether the following statements are
true or false. 1x2=2
(i)  Coconut water is the endosperm of the
fruit.
(ii) A plant must pass from juvenile
phase to adult stage before flowerirg
begins.
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(a)
(b)

(a)

Choose the correct word. yx2=1

(i) Angiospermous/Gymnospermous
wood is called hardwood.

(i) Gibberellins/auxins can make a
genetically dwarf plant tall.

What is microsporogenesis ? Describe its
importance for sexually reproducing plants.
With the help of a labelled diagram describe
the structure of an ovule.

With regard to endosperm answer any three

of the following questions.

(i)  Where is it present ?

(i)  Which cell gives rise to it ?

(iii) What is its ploidy level ?

(iv) What are the three modes of its
development ?

(v) What are its functions ?

With the help of a diagram describe the

Tunica Corpus Theory.

Write short notes on any two of the
following :

(i) Vascular Cambium

(i) Senescence

(i) Methods of seed dispersal

(iv) Applications of tissue culture

What is meant by cellular totipotency ?
Name the scientist who proved the concept
experimentally.

2+2



5. (a) What is polyembrony ? How does it 3
develop ? Name two plants which are
polyembryonic.

(b) What is the difference between a true and 2
false fruit ? Give one example of each.

6. (a) Write the classification of plants based on 1
their day length requirement for flowering.

(b)  Enlist the morphological changes that 2
accompany floral induction.

() What is apical dominance ? Which 2
chemical factors control apical
dominance ?

7. Define any five of the following terms : 1x5=5
(a) Somatic embryogenesis
(b)  Annual rings
(c)  Abscission
(d) Incompatibility
(e) Double fertilization
(f) Lenticel
(g) Cross pollination
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(b)

6. (a)

(b)

(c)

(a)
(b)
(c)
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(d) AT
(e) fgfo=m
(f)y oY

(g) IO
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Answer the questions as per instructions in each part.
Draw labelled diagrams, wherever necessary.

Note :  Question Number 1 is compulsory. Attempt any four
aquestions from Q. No. 2 to 7. Give figures wherever

Hec:seary.

PART-II (ANIMALS)
1. (a) Fill in the blanks : Yax4=2

(i)  During fertilisation the male and
female pronuclei fuse to form a

(i) A chart or a diagrammatic
representation  showing  the
prospective fate of each part of the
blastula is called a .

(iii) The germ layer from which gonads
arise is called the .

(iv) Inadult mammals the major site of the
formation of blood cells is the
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(b)

Differentiate between the following pairs :1 323
Xo=
(i)  Allometric and isometric growth.

(i) Radial and spiral cleavage.

(iii) Follicle cell and nurse cell.

Describe the structure of a mammalian 4
sperm with the help of a well labelled
diagram of its ultrastructure.

What is the difference between primary and 1
secondary spermatocyte ?

Classify the four egg types based on the 4
amount of yolk present.

Name the hormone in insects whose 1
presence inhibits metamorphosis.

4. Draw well - labelled diagrams to show cell 5

movements during gastrulation in frog (No
description is needed).

5. Describe the transplantation experiments of 5
Spemann and Mangold that were used to

demonstrate embryonic induction.

6. Describe with the help of suitable diagrams 5
regeneration in planarians.
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7. (a) Name the different extra embryonic 3
membranes formed during the development
of human embryo. Give the function of any
two of them.

(b)  What will happen when in an early chick 2
embryo the limb mesoderm is removed from
under the ectoderm of the limb area or
replaced by mesoderm from some non - limb
region in an early chick embryo ?
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